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křivky v R
2

kružnice

x2 + y2 = r2
{

x = r cos t,
y = r sin t,

t ∈ 〈0, 2π〉

x

y

elipsa
x2

a2
+

y2

b2
= 1

{

x = a cos t,
y = b sin t,

t ∈ 〈0, 2π〉

x

y

parabola

x2 = 2py,

{

x = t,
y = t2/(2p),

t ∈ R

y2 = 2px,

{

x = t2/(2p),
y = t,

t ∈ R

x

y

hyperbola
x2

a2
−

y2

b2
= 1

{

x = a cosh t,
y = b sinh t,

{

x = −a cosh t,
y = b sinh t,

t ∈ R

{

x = 1/2(t+ 1/t),
y = 1/2(t− 1/t),

t ∈ R \ {0}

x

y

Descartův list

x3 + y3 = 3axy
{

x = 3at/(t3 + 1),
y = 3at2/(t3 + 1),

t ∈ R \ {−1}

astroida

x2/3 + y2/3 = a2/3
{

x = a cos3 t,
y = a sin3 t,

t ∈ 〈0, 2π〉

x

y


